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A JIEXE
M S-S

=2 AZeea N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 800,000 631,000 169,000
02 2B YA HE L 800,000 631,000 169,000
OatZ3|o4a X 800,000
NAEAUE & =E24E2] FX XA 300,000 0 300,000
HIAHEA S & ~EdE2 FXI A& 300,000 0 300,000
308 AHAIEMSOIE 300,000 0 300,000
01 MAHHBSEEXS 300,000 0 300,000
OMAUEXNUE & 2483 R X2 300,000
Aok Jl=oHe & X1 17,347,000 20,953,000 A3,606,000
= 12,694,000
< 4,653,000
Xy g4 17,347,000 20,953,000 3,606,000
= 12,694,000
& 4,653,000
s 2 JIGX(2HEEXR) 700,000 600,000 100,000
306 E¢= 700,000 600,000 100,000
01 £g= 700,000 600,000 100,000
OFAESHE 2 JIY X2 (SETP) 700,000
s ARHIOIH(EYEER) 22 490,000 490,000
308 XtXIEMSO0IE 490,000 490,000
18 SIS0t 4 A A A 490,000 490,000
OsY URHIOIE(HYEER) 2Y 490,000
JBIAEEY B2 =4 (IHRERIR) 3,000,000 4,950,000 1,950,000
308 AtXIEMSOIH 1,000,000 950,000 50,000
18 SIS0t HAS A 1,000,000 950,000 50,000
OJAEEY B2 K& 1,000,000
403 AXIEHMSA=01d 2,000,000 4,000,000 /2,000,000
01 MHXIHHA 222 2,000,000 4,000,000 22,000,000
OJBIAEEY B2 &4 2,000,000
BI04 AHIOIA 2 (SHAFXIR) 43,000 43,000
402 212 X201 & 43,000 43,000
01 QI X2 AL E R (KHMITHE) 43,000 43,000
OlloIH AmOIA 2 43,000
ST J|=¥YdEH RE(2IHEEXY) 20,000 20,000 0
307 elztol & 20,000 20,000
02 2B YAIHE X 20,000 20,000
OSdd Jl=ggul X2 20,000
AT SSEUE NS A 12,694,000 0 12,694,000
[ 12,694,000
403 X SHHMSAH=01H 12,694,000 0 12,694,000
= 12,694,000
01 XIS A=E £ 12,694,000 0 12,694,000
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A JIEXE

M NIT FAH U 2
CHol: XISAIICHR] J|BHAIE AR X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 552,225 400,000 162,225
01 XN BELES 562,225 400,000 162,225
O&HAS] JI=AE, S2HA XX (LI
cIEE XY) 552,225
AAEHR] EHEOHE AF (ZIHRIEXIR) 541,600 134,200 407,400
403 AXIEHMSAH=01d 541,600 134,200 407,400
01 MXIHH A 222X 541,600 134,200 407,400
O8d Fg=3til Sg2stdH 2HE 71,600
O=tt ANAFESSS SR IR XIZ A
& 470,000
QIS ZSAUY ADNEHAMXT ZHA(20HAE 600,000 0 600,000
X&)
403 MR HHMSAHE01H 600,000 600,000
02 SISOt =2 A P E A I 600,000 600,000
OOt WASZEL| ADESHAX T Z&A
& 600,000
LHE S8 2012 SeAH 200,000 200,000
308 AHXIHMSO0IA 200,000 200,000
01 AN N B2 LS 200,000 200,000
OUZE =4E el - eI
g & A=+ 89 200,000
s3HA x4 & 2E 2,093,890 3,477,890 1,384,000
S3HX S2IIBAIE HE AL (HEALY) 2,017,890 2,017,890 0
403 MR HHMSAHE01H 2,017,890 2,017,890 0
01 AXISHHA 22 % 2,017,890 2,017,890 0
Os3HX =IEAIE HE ALY 2,017,890
s2HXg2s 43 XA 50,000 62,500 12,500
307 @12t01 & 50,000 62,500 212,500
02 QB AANEER 50,000 62,500 A12,500
OssHg2s gdst Xd 50,000
SeRsBEX == IIBHAIE &AM 26,000 0 26,000
403 X SHMSAH=01H 26,000 26,000
01 AR A =2 £ 26,000 26,000
O2eR=s3EX HHUZAIE 2= 26,000
A0tEDRIAE 2= A 450,000 0 450,000
Y dot ANEDRAE SE2MAE RE(E0HE 450,000 450,000
=)
403 MR EHSAHE01H 450,000 450,000
01 MXIHHA 22 450,000 450,000
Osg Aot AQIEDRIAYH SE2MAEH
=5 450,000
AHAEX] THIHZE 128,700 0 128,700
NANE A AANSBHAS (RD)(FIIEEXIY) 128,700 128,700
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